(DO NOT DETACH)

PROPOSAL TO THE COUNTY OF NEVADA

DEPARTMENT OF PUBLIC WORKS

COUNTY CONTRACT NO. 224021

FEDERAL PROJECT NO. BRLO-5917(083)

NAME OF BIDDER VIKING CONSTRUCTION COMPANY, Inc.	
BUSINESS P.O. BOX PO BOX 1508	
CITY, STATE, ZIP RANCOS CORDOLA, CA 95741	
BUSINESS STREET ADDRESS 11315 Sureine Gold Creck Sie A	
(Please include even if P.O. Box used)	
CITY, STATE, ZIP PANCHO COLAND , CS 95742	
TELEPHONE NO: AREA CODE () (916) 852-5535	
FAX NO: AREA CODE () (916) 852-5533	
CONTRACTOR LICENSE NO. A745029	
EMAIL ADDRESS TCLEMONS @ VIKINGBRIDGES.Com	

The work for which this proposal is submitted is for construction in conformance with the special provisions (including the payment of not less than the State general prevailing wage rates or Federal minimum wage rates), the project plans described below, including any addenda thereto, the contract annexed hereto, and also in conformance with CaliforniaDepartment of Transportation Standard Plans 2015, Standard Specifications 2015, and the Labor Surcharge and Equipment Rental Rates in effect on the date the work is accomplished.

The special provisions for the work to be done are dated February 6, 2018 and are entitled:

NEVADA COUNTY DEPARTMENT OF PUBLIC WORKS BOOK 2 OF 3 NOTICE TO BIDDERS AND SPECIAL PROVISIONS FOR

COUNTY CONTRACT NO. 224021

PURDON ROAD OVER SHADY CREEK BRIDGE REPLACEMENT PROJECT

FEDERAL-AID PROJECT NO. BRLO-5917(083)

Bid Book Contract No. 224021 Purdon Road Over Shady Creek Bridge Replacement Project Federal Project No. BRLO-5917(083)

ADDENDUM NO. 1

NEVADA COUNTY DEPARTMENT OF PUBLIC WORKS

CONSTRUCTION ON PURDON ROAD OVER SHADY CREEK BRIDGE REPLACEMENT PROJECT

Federal Project No. BRLO-5917 (083)

May 2, 2018

THIS ADDENDUM FORMS A PART OF THE CONTRACT DOCUMENTS AND MODIFIES THE ORIGINAL CONTRACT DOCUMENTS AS NOTED HEREIN. BY SUBMISSION OF A BID FOR THIS PROJECT, THE BIDDER IS ACKNOWLEDGING CONFIRMATION OF THE RECEIPT OF ALL ADDENDA ISSUED FOR THE PROJECT AND HAS INCLUDED COSTS FOR SUCH IN THE BID SUBMITTED.

1. Project Clarifications:

The project was designed by Dokken Engineering

2. Replace the "BID ITEM LIST - CONTRACT NO. 224021" on pages 3-5 and pages 25-27of Book 1 with:

BID ITEM LIST- CONTRACT NO. 224021 PURDON ROAD OVER SHADY CREEK BRIDGE REPLACEMENT FEDERAL-AID PROJECT NO. BRLO-5917(083)

ITEM	ITEM	P-F	ITEM	UNIT OF	ESTIMATED	UNIT	ITEM
NO.	CODE			MEASURE	QUANTITY	PRICE	TOTAL
1	099999		CONSTRUCTION STAKING	LS	1	15,000,00	15,000,00
2	100100		DEVELOP WATER SUPPLY	LS	1	20,000,00	20,000.00
3	120090		CONSTRUCTION AREA SIGNS	LS	1	3,000,00	3,000,00
4	120100		TRAFFIC CONTROL SYSTEM	LS	1	50,000.00	50,000,00
5	120182		PORTABLE DELINEATOR	EA	64	85.00	5,440,00
6	129000		TEMPORARY RAILING (TYPE K)	LF	120	100,00	12,000,00
			TEMPORARY ALTERNATIVE CRASH			6,500,00	26,000.00
7	129113		CUSHION	EA	4		
8	130100		JOB SITE MANAGEMENT	LS	1	40,000,00	90,000,00

ITEM	ITEM	P-F	ITEM	UNIT OF	ESTIMATED	UNIT	ITEM
NO.	CODE			MEASURE	QUANTITY	PRICE	TOTAL
			PREPARE WATER POLLUTION			2,500,00	2,500.00
9	130200		CONTROL PROGRAM	LS	1		
10	130550		TEMPORARY HYDROSEED	SQYD	1352	2.00	2,704.00
11	130640		TEMPORARY FIBER ROLL	LF	828	6.00	4,968.00
12	160110		TEMPORARY HIGH-VISIBILITY FENCE	LF	1040	7.60	7,800,00
13	170103		CLEARING AND GRUBBING	LS	1	50,000.00	50,000,00
14	190101	F	ROADWAY EXCAVATION	CY	723	150,00	108,450,00
15	192003	F	STRUCTURE EXCAVATION (BRIDGE)	CY	234	550,00	128,700,00
16	193003	F	STRUCTURE BACKFILL (BRIDGE)	СУ	152	275.00	41,800.00
17	210350		FIBER ROLL	LF	1289	5,50	7,89TC 7,089.50
18	210430		HYDROSEED	SQFT	9775	0.35	3,421,25
19	260203		AGGREGATE BASE (CLASS 2)	CY	230	215,00	49,450,00
20	390132		HOT MIX ASPHALT (TYPE A)	TON	297	315100	93,555,00
			PLACE HOT MIX ASPHALT DIKE (TYPE	1014	231	100.00	2,900,00
21	394073		A)	LF	29		18
22	200004		REMOVE ASPHALT CONCRETE			13,00	11,895.00
22	398001		PAVEMENT (SQFT)	SQFT	915	10 6 302 50	125 - 00
23	480600		TEMPORARY SHORING	LS	1		125,000,00
24	500001	Р	PRESTRESSING CAST IN PLACE CONCRETE		. 1	50,000,00	50,000,00
24	300001	F	STRUCTURAL CONCRETE, BRIDGE	LS	1	1,600,00	32,000,00
25	510051	F	FOOTING	CY	20	1,6001	25100
26	510053	F	STRUCTURAL CONCRETE, BRIDGE	CY		1375,00	111,375,00
			STRUCTURAL CONCRETE, BRIDGE		- 01	1650.00	179,850,00
27	510054	F	(POLYMER FIBER)	CY	109		
20	F1000F	_	STRUCTURAL CONCRETE, APPROACH			2,500,00	45,000,00
28	510085	F	SLAB (TYPE EQ)	CY	18	45,00	63,000.00
29	511035		ARCHITECTURAL TREATMENT	SQFT	1400		2,250,00
30	511106	P-	DRILL AND BOND DOWEL	LF	30		
31	520102	F F	BAR REINFORCING STEEL (BRIDGE)	LB	38020	1,16	43,723,00
		P-	BAR REINFORCING STEEL (EPOXY	LD		2,30	Z9, 578 .00
32	520106	F	COATED)	LB	12860		
33	600097		BRIDGE REMOVAL	LS	1	65,000,00	65,000,00
34	641101	Р	18" HDPE PIPE (TYPE S)	LF	42	275,50	11,560,00
			18" ALTERNATIVE FLARED END			500,00	500,00
35	705307		SECTION	EA	1		
36	721015	F	ROCK SLOPE PROTECTION (NO. 1,	CY	31	265,00	8,215,00

ITEM	ITEM	P-F	ITEM		UNIT OF	ESTIMATED	UNIT	ITEM
NO.	CODE				MEASURE	QUANTITY	PRICE	TOTAL
			METHOD B)					
37	729011		ROCK SLOPE PROTECTION FABI (CLASS 8)	RIC	COVD	ÂF	25,00	1,125,00
38	780440		PREPARE AND STAIN CONCRET	F	SQYD SQFT	45 1400	20,00	28000.00
39	803020		REMOVE FENCE		LF	363	20,00	7,260,00
40	800000A	Р	FENCE (TYPE BLW, 3-STRAND, METAL POST)		LF	381	25.00	9,525,00
41	820230		REMOVE SIGN		EA	5	100.00	500,00
42	820750		FURNISH SINGLE SHEET ALUMII SIGN (0.063"-UNFRAMED)	NUM	SQFT	44	25.00	1,100,00
43	820840		ROADSIDE SIGN - ONE POST		ΕA	5	220.00	1,100.00
44	810190A		GUARD RAIL DELINEATORS		EA	24	20.00	480.00
45	839521	F	CABLE RAILING		LF	14	115.00	00.00 عاءا
46	839738	P- F	CALIFORNIA ST-30 BRIDGE RAIL		LF	273	300.00	81,900,00
47	999990		MOBILIZATION		LS	1	181,000,00	181,000,00
	BID TOTAL IN FIGURES 1,817,313.75							
	BID To	OTA	L IN WORDS	three h	lion eight woodred thi	bundredser Other dollar	enteen fl s and sev	enty five ce

When an item of work is designated as F or P-F, the estimated quantity is a final pay quantity. When an item of work is designated as P or P-F, the item is eligible for progress payments as material furnished but not incorporated in the work. The Bidder must list the name and address of each subcontractor the Bidders proposes to subcontract portions of the work, as required.

The total bid for the Bid Item List will be used to determine the lowest responsible bidder.

COMPANY NAME	
VIKING CONSTRUCTION COMPANY	. Inc .

3. Replace the "BID ITEM LIST CONTRACT NO. 224021", pages 14 and 15 of Book 2 with:

BID ITEM LIST CONTRACT NO. 224021

PURDON ROAD BRIDGE REPLACEMENT FEDERAL-AID PROJECT NO. BRLO-5917(083)

(Not to be used for bidding purposes)

ITEM	ITEM	P-	ITEM	UNIT OF	ESTIMATED
NO.	CODE	F		MEASURE	QUANTITY
1	099999		CONSTRUCTION STAKING	LS	1
2	100100		DEVELOP WATER SUPPLY	LS	1